F331 Exam questions that tend to come up
*Annotate with additional notes.
Suggest assumptions that could be made with radioactive dating
· Half-life has remained unchanged
· No gain of parent isotope/ original radioisotope is the same age as rock
· No daughter product at start
Describe the main features in the appearance of an atomic absorption spectrum
· Black lines
· Coloured background
· Line getting closer at higher frequency
Use ideas of bond making and bond breaking to explain why the combustion of ethanol gives out energy
· Energy is taken in to break reactant bonds
· More energy if given out to form product bonds
Suggest why it is not advisable to use an isotope with either a very short half-life or a very long one.
· Very short – Not around In sufficient levels long enough to detect
· Very short – burst of harmful radiation
· Very long – too little radiation to detect
· Very long – possible harm to patient.
Why did Mendeleev leave gaps in the periodic table?
· For elements yet to be discovered
Describe the type of catalyst used in catalytic converters and describe mechanism of this type of catalysis
· Heterogeneous catalyst is used
· Reactants adsorb onto the surface of the catalyst
· Reactant bonds weaken and break
· Products bonds are formed
· [bookmark: _GoBack]Products desorb from the catalyst.

